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Instructions to Students

You will have 10 minutes to read the paper. You must not write in your question booklet or script book during this
reading time but you may make notes on the scribbling paper provided.

This paper is in two parts:
Part A (Questions 1 to 4}
Answer alf parts of Questions 1 to 4 in the spaces provided in this question booklet.

Part B (Questions 5 fo 7)
Answer one essay question from this part. Write your answer in the separate script book.

The allocation of marks is as follows:

Part A 45 marks
PartB 20 marks
Total 65 marks

Attach your SACE registration number label to the box at the fop of this page. Copy the information from your
SACE registration number label into the box on the front cover of your script book.

At the end of the examination, place your script book inside the back cover of this question booklet.



PART A (Questions 1 to 4)
(45 marks)

Answer all parts of Questions 1 to 4.

Write your answers in the spaces provided for each question. The allocation of marks is shown in
brackets at the end of each part of each question.

1. Refer to the following information.

Balancing price and demand

Travellers to Asia are very familiar with ‘hawker'! food markets that provide a variety of cheap and good
food. Increasingly, hawkers have found it more difficult to make a living.

Consider the example of one market with a large number of stallholders, many of whom include chicken
rice on their menu. Although costs of ingredients have more than doubled over the past 10 years, the
average price of a plate of chicken rice in 2014 is only $2.50 compared with $2.00 in 2004. A spokesperson
for the hawkers said, ‘We have to absorb increased costs. We want to increase prices but we do not
know how to do this without negative consequences’.

However, one hawker, Ms Chan, has managed to defy the trend of falling profits. The $1.50 price for
her chicken rice has not changed in the past 10 years and her profits have actually increased. Ms Chan
argues that her success is due to bulk buying the ingredients, specialising in one product, and pricing
her food significantly lower than the average price. She commented, ‘A hawker selling $1.50 chicken
rice could be more profitable than one selling the dish for double the price. You just need to understand
the market'.

'hawker — street food trader

(a) (i) Identify the most likely market structure for the ‘hawker' food markets.
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(i) Justify your answer to part (a)(i).
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(iii) State one possible advantage for consumers of the market structure you identified in
part (a)(i).
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(iv) State one possible advantage for producers of the market structure you identified in
part (a)(i).
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(b) Show on the diagram below the effect of Ms Chan’s actions of bulk buying ingredients
and specialising in one product.

Indicate the effect on price and quantity traded.

Market for Chan’s chicken rice
P4

(1 mark)
(c) (i) State the likely price elasticity of demand for food in hawker food markets.
éAaone. (1 mark)
(i) Justify your answer to part (c)(i).
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(iii) ‘Although selling significantly below the current average price could be profitable for
an individual hawker, this would not be the case for the market as a whole.' Evaluate
this statement.
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2.

Refer to the following diagram, which shows an aggregate demand — aggregate supply
diagram for the economy of Country A.
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(a) State one macroeconomic objective that is not being achieved in:

(i) 2014.
Pace, SyeO\WIA (1 mark)
),
(i) 2012.
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(b) (i) What type of economic indicator is business confidence?
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(i) Justify your answer to part (b)(i)
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(c) Describe why governments use a range of indicators for economic management.
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(d) Which one of the following could have led to the employment trend from 2011-20137?
Tick the appropriate box.

An increase in the official cash rate

An increase in the exchange rate of Country A

An increase in business confidence |

An increase in the size of the budget surplus (1 mark)

(e) Distinguish between Short-run aggregate supply (SAS) and Long-run aggregate supply
(LAS).
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(f) Which one of the following terms best describes the stage of the business cycle for the
economy of Country A in 2012? Tick the appropriate box.

Trough

Recovery Vv

Boom

Downturn (1 mark)

(g) Mark the likely position for the economy of Country A in 2014 on the production
possibility diagram below.

Capital
goods

Consumer goods

(1 mark)
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(h) ‘Monetary policy would be more effective in managing the economy of Country A in 2014
than in 2011.” Evaluate this statement.
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Refer to the following information.

Globalisation and the Impact on Trade

Country B is an economy in transition from a planned economy to a more market-based economy.
While Country B currently protects local industries with tariffs and quotas, the government is facing
increased pressure to enter a number of free-trade agreements with other members of the World Trade
Organization. The government has recently eased restrictions on foreign investment and a number of
transnationals have already moved into this market.

Despite higher economic growth, unemployment levels in Country B have been increasing in the past
two years as levels of efficiency improve. The government is also concerned that inflation, which is
currently just above target levels, will increase further.

(a) State one observable change that could occur when an economy is in transition.
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(b) Explain how the following measures may protect local industries:

(i) tariffs.
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(c) (i) State one role of the World Trade Organization.
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(1 mark)

(i) Name one type of free-trade agreement into which Country B could enter.
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(d) With reference to Country B above, outline:
(iy one advantage of foreign investment.
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(il) one disadvantage of foreign investment.
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(e) Summarise the key benefits and costs for Country B of entering into a free-trade

N O N Al

agreement.
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4.

Refer to the following table.

Components of GDP for Country C

Year 1 Year 2
Consumption ($ billion) 120 100
Investment ($ billion) 70 70
Government ($ billion) 75 70
Exports ($ billion) 25 25
Imports ($ billion) 50 45

(@) Which one of the following shows the gross domestic product (GDP) for Country C in
Year 27 Tick the appropriate box.

240

265

310

220 V] (1 mark)

(b) Distinguish between the economic terms ‘consumption’ and ‘investment'.
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(c) Identify one factor, other than income, that might influence the level of consumption
spending.

ANL. XN cote.

(1 mark)
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(d) ‘The most likely stage of the business cycle for the economy in Country C from Year 1 to
Year 2 is a downturn.’

(i) Evaluate this statement, with reference to the data for Country C.
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(i) Describe the likely change to the level of inventories from Year 1 to Year 2 in the
economy of Country C.
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(e) ‘Investment spending in Country C decreased significantly in the 12 months following
Year 2.

Using the circular-flow model and with reference to the concept of the expenditure
multiplier, explain the potential impact of this decrease.
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PART B (Questions 510 7)
{20 marks)

Answer one essay question from Questions 5 to 7.

Whenever appropriate, you should supplement your answers with suitable diagrams.

Write your answer in the separate script book provided. Write the number of the question you
choose in the appropriate box on the front cover of the script book.

©

‘External influences are the most significant problem that a government experiences when
managing economic policy.’

Evaluate this statement with reference to examples. (20 marks)

‘Most countries focus on economic growth, which suggests that it is the most important
macroeconomic objective for a government to achieve.’

Evaluate this statement with reference to examples. . (20 marks)

‘Successful economic management requires a government to implement both demand and
supply-side policies.’

Evaluate this statement with reference to examples. (20 marks)

© SACE Board of South Ausiralia 2014
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SACE REGISTRATION NUMBER

CHECK
FIGURES LETTER

als B 744G

SUBJECT

Numbers of all questions answered in this script book, in the order answered

(e.g. 1,28, 16) .4

Number of script Section or part answered in this
books used script book (see instruction 2)

Instructions to Students

Copy the information from your SACE registration number label clearly
into the box at the top of this page.
or

If the instructions on your question booklet direct you to do so, attach
your SACE registration number label to the box at the top of this page.

If you are required to write your answer to each section in a separate
script book, indicate the section in the box above.

Begin each answer on a new page, writing the number of the question
in the margin. Write on both sides of the paper.

Extra script books and scribbling paper are available on request.

During the examination you must write in the boxes above:

» the numbers of all the questions you have answered in this script
book, in the order answered;

* the number of script books you have used.

Put extra books inside the back cover of the first script book.
Hand your script book(s) to the invigilator before you leave the

examination room, even if you have been unable to answer any
questions. Do not leave your book(s) on the desk.
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